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EHAMHY HRMIEE (Variance-Covariance Matrix)®

X1 X2 D1 D2 D3

8.76 3.35 -5.56 3.09 .89

X1 0.09 0.05 2.14 1.67 .08

X2 0.04 1.25 -2.35 .45

D1 4.25 3.35 -1.95

D2 5.56 .56
.25

a=0.05R%F (1) BERXERWXA—-BENHAIRE, 2).8858
EMA-BXRATREEER, (209)
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DO 0O it bk b sk

x"(0.025,6)=1.24, x°(0.975,6)=14.45, x"(0.05,6)=1.64, x °(0.90,6)=10.64
x*(0.025,7)=1.89, x °(0.975,7)=16.01, x *(0.05,7)=2.17, x "(0.90,7)=12.02
F(0.975,2,8)=7.28, F(0.975,3,6)=6.60, F(0.975,4,6)=6.23, F(0.975,5,6)=5.99

F(0.95,2,6)=5.14, F(0.95,3,6)=4,76, F(0.95,4,6)=4.53, F(0.95,5,6)=4.39

F(0.975,2,7)=6.54, F(0.975,3,7)=5.89, F(0.975,4,7)=5.52, F(0.975,5,7)=5.29

F(0.95,2,7)=4.74, F(0.95,3,7)=4.35, F(0.95,4,7)=4.12, F(0.95,5,7)=3.97
£(0.95,0)=1.645, +(0.975,00)=1.96 t(0.95,6)=1.943, t(0.975,6)=2.447




